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Adding Vectors Graphically
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1.
For the vectors drawn below, which statements are true?  Add the vectors using the tail to tip or parallelogram method to confirm whether or not each statement is true:
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Mathematical Vector Addition: Parallel Vectors
2.
Add the following vectors mathematically:

[image: image8.wmf]v

D

[image: image9.wmf]v

C

[image: image10.wmf]v

A

[image: image11.wmf]v

B


[image: image12.wmf]v

F


[image: image13.wmf]v

E


Mathematical Vector Addition: Perpendicular Vectors

3.
Perform the following operations mathematically:



(a)






(b)



4.
A jogger travels due south, and in the process, has a displacement of 4.68 km due south.  He then jogs due west for a spell.  If his total displacement has a magnitude of 7.41 km, (a) what is the magnitude of his displacement vector due west?  (b) What angle does his total displacement vector make w/due south? (5.75 km @ 50.8()
5.
An airplane flies 200 km due east before turning, quite sharply, and flying 300 km due north.  What is the displacement of the plane? (361 km @ 56.3()
Mathematical Vector Addition: Vector Components
6.
Solve for the vector components of the following:   




(a)







(b) 



(Ex = 16.1 m/s (, Ey = 15.0 m/s( (b) Fx = 20.9 m/s2 (, Fy = 199 m/s2()
7.
A firefighter climbs 12.2 feet along a ladder that makes an angle of 70 degrees with the horizontal.  What are the horizontal and vertical components of his displacement? ((x = 4.17 ft, (y = 11.46 ft)
Putting it All Together: 

Remember the Steps for Adding Vectors:
1 -  Break vectors up into Horizontal and Vertical Components

2 -  Add Horizontal Components to Get Horizontal Component of Resultant.

3 -  Add Vertical Components to Get Vertical Component of Resultant.

4 -  Apply Pythagorean Theorem to Resultant Components.

5 -  Use Trigonometric Function to Solve for Reference Angle.
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 = 6.0 m at 305(
8.
Given vectors A, B, and C, as defined, find A + B

9.
Given vectors A, B, and C, find A + B - C

10.
A car travels 20 km due north, and then 35 km in a direction 60( west of north, as shown to the left.  What is the magnitude and direction of the resultant displacement? (48.2 km @ 129()
Vector Addition and Subtraction Practice
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A + B = D			(f) A – B = E


A + B = -D			(g) A + B + C = F


B + E = C			(h) C + E + F = A


F + C = A			(i)  B + E – C = -D


F + C = E








� EMBED Equation.COEE2  ��� = 32 m





� EMBED Equation.COEE2  ��� = 28 m





+





+





� EMBED Equation.COEE2  ��� = 5 N





� EMBED Equation.COEE2  ��� = 12 N





� EMBED Equation.COEE2  ��� = 18 m





� EMBED Equation.COEE2  ��� = 42 m





-





� EMBED Equation.COEE2  ��� = 5 N





� EMBED Equation.COEE2  ��� = 12 N





+





??? km





4.68 km





7.41 km





(





84(








� EMBED Equation.COEE2  ��� = 200 m/s2








43(





� EMBED Equation.COEE2  ��� = 22 m/s





70(





N





S





W





E





60(








_1219599736.unknown

_1441614472.unknown

_1441614521.unknown

_1219599197.unknown

_1219599673.unknown

_1219599185.unknown

_1219599008.unknown

_1219599030.unknown

_1216485915.unknown

